4 3 v 2 1

BRAND EMBOSS TYPE SNAP LATCH ENGAGES REVISIONS
SHORT LONG FLUSH ONTO VERTICAL TRACK. END -
ONE SNAP LATCH ON REV. NO.|[ ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
CLOPAY 9130, HDP13 | 9133, HDPL13 | 9131, HDPF13 EACH SIDE OF DOOR. STILE
00 - - - SH INITIAL RELEASE
IDEAL 8130 8133 8131
OUTSIDE
HOLMES 7130 7133 7131 HANDLE
OPTIONAL WINDOW LITE. DSB GLASS, DOUBLE—PANE  CUToiE KEED END
INSULATED OR 1/8” ACRYLIC AVAILABLE. OFTIONAL HANDLE STILE LOCK AR
ARCYLIC GLAZING IS PLASKOLITE OPTIX OR LUCITE CP ok oN
APPROVED CC2 PLASTIC IN ACCORDANGE WITH IBC/FBC INSIDE HANDLE OUTSIDE_ KEYED LOCK EACH SIDE
2606. SEE SECTION B—B. SHORT PANEL LITE SHOWN; OUTSIDE_KEYED LOCK OF DOOR
MAX. LITE SIZE IS 42°x16". SNAP LATCH LOCK_OPTION LOCK BAR LOCKING :
,—>B —-—=—A — - —=— A
|
> [ll” ~ 1 » 'r’ # SEE_END - :1 i i ii !
{ 1y | / HINGE DETAIL ] Uiy Ji 1 Ry ' 12 GA. GALV. STEEL TOP BOLLER
B= “BS L\" _,B“' == = % c C JAY i BRACKET. EACH E,B,RACKI:—I' ATTACHED
V, | z : URETHANE CORE _— \g(l:TgEvsg) #14x5/8" SHEET METAL
Y f Y 1 Y Yt 11 | | — SEE INTERMED. CH # # # # DENSITY 2.4 P.CF.
. | frot o i HINGE DETAIL ‘Lg # # # e
k) 1 I ) L ) S ] I o 1 LK Al_ L : =]
1\8 A,/ I Ilg l\_/l T
e £83 ! R i i - 27 GA. STEEL MIN. EXTERIOR SKIN WITH/
| | | | | | | |
=3 || !N ARk Bk n . 8=z i Hoh non R | G—40 GALVANIZING, BAKED—ON PRIMER A
&E ! ! ! ! ! ! ! ! IQo A AND A BAKED—ON POLYESTER PAINTED TOP COAT.
Il 8 1 1 1 1 1 1 i 1 8 n:B JARY
oo y ’N\_Two POINT LOCKING = TWO POINT LOCKING
gz o i | i s s T s (N
e Y I Xz B 1 i i i }f i i i i
~ | ~ 1 1 1 1 I 1 1 II 1
! HEt /{ ! ! il ! 3 ' ] SLIDE BOLT /x—k\
' yioiy Al L gy ' END LOCK ENGAGES TONGUE AND GROOVE JOINTS. Z’J\‘
, A1 I Al T 1R , STILE INTO VERTICAL )
: - e TR
OPTIONAL OUTSIDE KEYED ~ L= ' . Ji 1y Ul 1k ' SR SECT A—A
LOCK POSITION  SHORT PANEL SHOWN OF DOOR.
MAX'M%ENQ -0 | OPTIONAL OUTSIDE KEYED ——— INSIDE SLIDE BOLT 1-3/8" THICK
LOCK POSITION SHORT I,:’AN-EL SHOWN LOCK OPTION | 27 GA. STEEL MIN. INTERIOR SKIN
= MAX. DOOR WIDTH = 9'-0 13 GA. GALV. STEEL 5%“‘/_ WITH G—60 GALV., BAKED—ON
" ANSIDE ELEVATION BoToN “BRACKET PRIMER AND A BAKED—ON POLYESTER
(4) #14x5/8" SHEET METAL SCREWS HORIZONTAL TRACK SUPPORT BY ATTACHED WITH (2) TOP COAT.
THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE DOOR INSTALLER (TO SUIT) v
WIND LOAD REQUIREMENTSGOEOTEI)-IE BFLI}?REI)%AI:ZSB?;IIEEINMGESFOI'?'EE #1M4I-_l(l'i/LBSCSRI-I!:$VEr 2-1/4x24 GA. GALV. STEEL U—BAR
» » OR INTERNATIONAL BUILDIN . - . .
(4) 1/4" x 3/4 IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS ONE U—BAR AT THE BOTTOM OF
SELF TAPPING SCREWS REGIONS (REFER TO CHAPTER 16 FBC / IBC). %E ggqahé SEEgESNéE%¥|% NATALHDE
THIS DOOR MEETS OR EXCEEDS THE DESIGN 13 GA. GALV. STEEL FLAG BRACKET. POTE, TRCK o o RATION THEN ONE AT THE TOP OF EVERY
14 GA. END HINGE 18 GA. INTERMEDIATE HINGE |ACCORDING TO THE FLORIDA BLDG. CODE (3) 5/16°x1-5/8" WOOD LAG SCREW. LOAD RATING OF THIS DOOR 1/4"x3/4” SELF TAPPING SCREW AT
OR IBC (ASCE7) FOR THE FOLLOWING ’ EACH HINGE LOCATION.
CONDITIONS: 1)" ENCLOSED BUILDING, 2) DOOR TRACK CONFIGURATION LHR TOP BRACKET # OF
HAS 2’ OF WIDTH IN BUILDING’S END ZONE, DOOR HEIGHT
SECTIONS ALUMINUM EXTRUSION
3) IMPORTANCE FACTOR OF 1.0, 4) ANY ROOF =
2000 PaT M\ SONCRETE COLUMIN: QoPERD 'Sy 50% Rrory 'EACTOR. & NOTE: DOUBLE TRACK DOVBLE HORIZONTAL TR 7] & VINYL WEATHERSTRIP.
3/8"X4” SLEEVE ANCHORS ON 24” CENTERS WIND SPEED (MPH)| <90 90 100 (100 T AVAILABLE AS AN OPTION 7’3" TO 89 5 FRONT FRAME WITH U.V.
(BOTH c—?o BLO?K OR 2000 PSI MIN. EXPOSURE LEVEL B C B C x I 50" 70 10'6° 3 SECTION B-B COATING ON OUTSIDE SURFACE.
CONCRETE) OR 1/4"X4" TAPCON SCREWS ON 24 ; ; ; Q Y, Y,
CENTERS (2000 PS| MIN. CONCRETE). WASHERS MEAN_ROOF HEIGHT] 30 25" | 30" | N/A e 2" GALV. STEEL TRACK, DOUBLE TRACK 10’9 TO 12’3 7
INCLUDED WITH SLEEVE ANCHORS. 1" 0.D. " TRACK THICKNESS: .060 Zeoote LMD 12'6” TO 140" 8 N[
nn KK
WASHERS REQUIRED WITH TAPCONS. ANCHORS NOTE: FOR DOORS OVER 8'-0" £ L 7| LOW HEADROOM OPTION 14’37 70 15'9” 9 J_( \L—;
3 =
b 5 SRR 1ot g T : i -
HORIZONTAL JAMBS DO NOT TRANSFER LOAD. : 7 R
PROVIDED. CONSULT FACTORY FOR 2 0| ~— TvP. 2-1/2"12 GA. GALV. STEEL TRACK BRACKET. MaX SECTION HETGHT & _/ ?sl]ﬁslrg PANE \_ #BX3/4 PAN
STOP MOULDING BY DOOR MORE DETAIL IF RQD. Z (4) TRACK BRACKET PER SIDE. DISTANCE BETWEEN MOLDED INSIDE SHOWN, MAY BE HEAD SCREW (1
INSTALLER (TO SUIT) s TRACK BRACKETS NOT TO EXCEED 30" O.C. LITE_RETAINER INSULATED DOUBLE SCREW PER
20 GA. MIN. GALV. STEEL END STILE i PANE). E?"L%?S%EE)
n S DESIGN ENGIN%ER: MARK WESTEI;‘FIELD, P.E. . '
) N 7-6" 182" FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513
12 GA. GALV. STEEL TRACK %7777 8'-0"[88 DESIGN LOADS: +20 PS.F. & —20 P.S.F. MANUFACTURING PRODUCT CODE:
BRACKET E?ISJEQI}EPGJC% V\éO/%D TEST LOADS: +30 P.S.F. & —30 P.S.F. MPC: DSIU—1A171
JAMB WITH x1— " .
WOOD LAG SCREW PER BRACKET. 18 GA. MIN. GALV. STEEL CENTER HINGE D e Unless Stated Otherwise | [:I 8585 Duke Boulevard CLOPAY WINDLOAD RATING
2" GALV. STEEL TRACK FASTENED TO BACK OF DOOR W/(4) REQUIRED. LAG SCREWS MAY BE COUNTERSUNK (BUT NOT TOLERANCES are opay Yoo 4590080
FASTENED TO TRACK BRACKETS EACH #14x5/8" SHEET METAL SCREWS. REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. 0 = +.031 Buﬂdmg Products Company Fax No. 513-770-4853
: 14 GA. GALV. STEEL ROLLER HINGE HORIZONTAL JAMBS DO NOT TRANSFER LOAD. 0 = +.
EACH BRACKET ATTACHED WITH ONE FASTENED TO END STILES W/(4) EACH .00 = £.015 [DESCRIPTION: 9130 SERIES: 1-3/8” RES| PUR +£20 PSF SINGLE CAR
1/4"x5/8" BOLT & NUT OR #14x5/8" SHEET METAL SCREWS AND NOTE: THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS .000 = £.005
TWO 1/4” RIVETS. (4) 1/4"x3/4" SELF TAPPING SCREWS. SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF 0000 = =+.001 DRAWN BY: SH DATE: 05/25/09  SCALE: NTS DWG.
RECORD FOR THE BUILDING OR STRUCTURE AND IN ACCORDANCE D = +1/2 B B
SECT C—C 2” 10 BALL SHORT STEM STEEL ROLLERS WITH WITH CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING. o eg::etsd ot / CHECKED BY: SH DATE: 06/05/09| SHEET 1 OF 1 |SIZE
_— niess ate erwise
STEEL OR NYLON TIRE DIMENSIONS ARE IN INCHES.[ DWG. NO.: 104175 VER: IBC

4 3 »~ 2 FLORIDA PRODUCT APPROVAL 5675




